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Quiz Date: 28t November 2020

Directions (1-5): Study the information carefully and answer the questions given
below.

Seven persons are living on seven different floors of a building, in such a way that the
ground floor is no. 1 and the top floor is no. 7. Each of them works in seven different
companies i.e. HCL, HP, Lenovo, Sony, Apple, Dell and Asus but not necessary in the same
order.

F lives on an even number of floors. Three persons live between F and the one who works
in Sony. The one who works in HCL lives just above P, who lives at even number floor. H
lives above G and both of them live at odd number floor. The one who works in Lenovo
lives above the one who works in Dell. The one who works in Asus lives on the 4t floor. H
does not work in HCL. The one who works in Apple lives above the one who works in
Lenovo and below the one who works in HP. Z lives just above X, who does not live on at
odd number floor. More than three persons live between H and G. Not more than one
person lives between the one who works in Lenovo and the one who works in Apple. C is
one of the persons.

Q1. Who among the following person works in Apple?
(@ F

(b) X

()

(d)P

(e) None of these

Q2. Who among the following person lives on the 214 floor?
(a) The one who works in Asus

(b) G

(c)C

(d) The one who works in Sony

(e) None of these

Q3. How many persons live between Z and G?
(a) One

(b) Four

(c) Three

(d) Two

(e) None

Q4. Four of the following five are alike in a certain way based on a group, find the one that
does not belong to that group?

(a) G-C

(b) P-X

(c) Z-C

(d) F-X

(e) C-P
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Q5. Who among the following person lives just above the one who works in Asus?
(a) The one who works in Apple

(b)P

(c)Z

(d) The one who works in HP

(e) None of these

Q6. How many words can be formed from the 4t, 6th, 7th and 9th letter of a word
‘DOWNGRADE’ by using each letter once in the word?

(a) two

(b) one

(c) none

(d) three

(e) more than three

Direction (7-8): Read the following information carefully and answer the given
question.

Point E is 8m to the west of Point F, which is 4m to the north of Point G. Point I is 11m to
the north of Point H, which is 8m to the east of Point G. Point K is 4m to the south of Point
of ], which is 8m to the west of Point I. Point L is 4m to the west of Point K. Point C is 4m to
the east of Point F.

Q7. If point A is 4m to the south of point I, and point B is 4m to the north of point H, then
what is the shortest distance between point C and point A?

(a) 5m

(b) 6m

(c) 7m

(d) 11m

(e) Can’t determined

Q8. In which direction point K is with respect to point H?
(a) South-east

(b) North-west

(c) North

(d) West

(e) North-east

Directions (9-13): Answer these questions based on the following information.
In a certain code:

“Stage citizen against doubtful” is coded as “din foa wat dit”

“Citizen doubtful unique” is coded as “foa dit yom”

“Biometric identity layout” is coded as “dob wan fud”

“Football against Biometric” is coded as “yon wat dob”

Q9. What is the code for “Biometric doubtful”?
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(a) foa din
(b) dit yon
(c) yon foa
(d) dob dit
(e) dit foa

Q10. What is the code for “against unique”?
(a) wat foa

(b) wat yom

(c) wat din

(d) dit wat

(e) dityom

Q11. What is the code for “layout”?
(a) dob

(b) wan

(c) fud

(d) Either dob or wan

(e) Either wan or fud

Q12. What could be the code for “Stage identity”?
(a) wan dit

(b) din wan

(c) foa dob

(d) din wam

(e) dob foa

Q13. What is the code for “football”?
(a) dob

(b) wat

(c) din

(d) yom

(e) yon
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Directions (14-15): Study the information carefully and answer the questions given

below.

If J x K’ means | is mother of K.
If J - K’ means ] is brother of K.
If T+ K’ means | is wife of K.

If ] + K’ means | is father of K.

Q14. In the expression GxK+I+]J-H, how is | related to G?
(a) Grandson

(b) Daughter

(c) Father

(d) Can’t determined
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(e) None of these

Q15. In which of the following expression D is mother of S?
(a) FxD+Y-Sx0
(b) F+D-Y+S+0
(c) FxD-Y+S-0
(d) F+D+Y-Sx0
(e) F+DxY-S+0
TEST SERIES
Bilingual

IBPS CLERK 2020

! PRIME /

125+ TESTS | eBOOKS

Solutions
Solutions (1-5):
Sol.
Floor | Person | Company
7 H Hp
6 F Apple
5 Z Lenovo
4 X Asus
3 C HCL
2 P Sony
1 G Dell
S1.Ans(a)
S2.Ans(d)
S3.Ans(c)
S4.Ans(e)
S5.Ans(c)
$6. Ans.(a)

Sol. NEAR, EARN

Solutions (7-8):
Sol.

Adda247.com


https://www.adda247.com/product-testseries/6378/ibps-clerk-prime-online-test-series-2020-by-adda247

Bankersadda.com Reasoning Ability Quiz for IBPS Clerk 2020 Adda247.com

8m
J 1
4m
4m
L K 1lm
E F 4m (C
8m 4m
G H
8m

S7. Ans (a)
S8. Ans (b)
Solutions (9-13):
Sol.

WORD CODE
Against Wat

citizen/doubtful | Foa/dit

Stage Din
Unique Yom

Biometric Dob

Football Yon
Identity/ layout | Wan/fud
S9. Ans.(d)
S10. Ans.(b)
S11. Ans.(e)
S12. Ans.(b)
S13. Ans.(e)
Solution (14-15):
S14.Ans(a)

G(-)
I(+) == K(-)
J(+) —H(+/-)

S15.Ans(e)
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F(+)

D(-)

Y(+)—=5(-) ==0(+)
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